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Three, 5 and 9 colour steps for visual evaluation

NOOb  NO8b  Ni6b NOOb  NO4b
Three, 5 and 9 colour steps, humeric specification

e04=0, .
bl=e04*al

Iculation example

r: 0, 135, 300, 450, 600, 700, 800, 900, 1000

Three, 5 and 9 colour steps, produced visual linearization

NOOb  NO8b  N16b N[00 B \[021 ]

h_e?30-7n, Test samples: 3, 5 and 9 colour steps, greu=0,500, expu=1,000, expa=1,000, expi=1,000

s: 0, 125, 250, 375, 500, 625, 750, 875

Black N

N12b

e48=0, .
b3=e48*
(1-b2)+b2

i: 0,
Black

N12b

00b — Black N16b = Blue B

N16b N[02])

12?
e02=0, .

cl=e02*b]

N[0]¢] )

NOOb
0 377?

25?

c24=0, .
c3=e24*
(b2-b1)+b

NJO%’DZ—OZB’|§(?|? ,N31960b, ESBSI'uggBO' 844‘L)§LP'99LOG,U :[50llog(5)] |Og(Y/Yu)+50, Yn=4, Yy =20, Yw =100

N16b NOOb  NO2b

TUB-test chart hei3; adjacent grey samples for visual intervall scaling, evaluation of the serie

50?

}Zolour management for output linearization of a 9 step grey scale " [Colour management for output linearization of a 9 step grey scale
*' (star-dash) coordinates *' (star-dash) coordinates
W 1,001 . W 1,001 . 1,00, 1,00
” of real output with real 1,00, 1,00 o of real output with real 1,00, 1,00
W” output display reflection in office room; W output display reflection in office room;
w*’ . i output w*’ . " output
output| lighter (positiv P) real output output| lighter (positiv P) real output
- _ N start , _ Y —— start
0,75+ W output — fl’ [W input] real 0,75+ W* output — fr [W input] — real
W' output = [W*input] 1,000 W*' output = [W*input] 1,000 0,75, 0,69 — — inverse
% 0,50, 0,64 - 0.50. 0.60 s — — linearized
= W7 output e =W output R o
0.50T 0,50t ,
90,50
P &0,50,0,39 '* (dash-star) coordinatesto reach
the linearized output with the real
025+ 025+ display reflection in office room;
darker (negativ N) inverse output
W output = i [W¥input]
0,00, 0,00 W¥input = rgb* (=0, 0,125, 0,250...,0,875, [1) 0.00. 0.00 W¥input = rgh* (=0, 0,125, 0,250,..,0,875,
N 0,00 — t t } i N 0,00 — t t } i
0,00, 0,00 0,00, 0,00
N 0,0 0,25 0,50 0,75 1,00 W N 0,0 0,25 0,50 0,75 1,00 W
hei30-3n hei31-3n

+ 146G, ;5| o6 y=[50/l0g(5)] log(Y/Yy)+50, Y =4, Yy =20, Yyy =100

N10b
62?

e46=0, .

N14b  N16b
877? 1

75? 0[0)

€68=0, .
c7=e68*
(1-b3)+b3

cb=e46*
(b3-b2)+b]

N14b  N16b
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N_B with 3, 5 and 9 steps, outpgugb*) 1.0 & experimental; surround mean Grey U=N08w
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